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Newton 's Second Law of Motion Unfit :

length i meters

Force = mass x acceleration mass  i kilograms
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• X length feet ( 0dm )
mass slugs (14.6kg)

vs d¥ : Velocity ,
as dir British ) time Second ,

dt force pounds 14.45N)

energy foot - pounds l 1.36$
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Free fall in air :
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Freefall with bungie cord ( spring)

Md 'x

{ a.
= mg -8¥ .hn ,

I did t matters)x=g
' M X Units : 't 9 f fte

't meters met
× Tea set

.

set
,

meters

Ep!::!  

hsmxegsg Change duty
.

' (Im) dyatthmyso
Variables :

y :X - x

eg



Harmonic Oscillator ( Oso)
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. Newton 's Law of Cooling
,

Tf LH : ambient AH
-

temperature

Tis THI : temperature of dates - k ( T ' - T.IN)
small object

Can rewrite as
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Gravitational Potential

Ms  mass

§Energy -

-

lgyl.ms
(mg ) x ly)

Joules = U '

m Force × distance

Yogis) .bg d energy

ground level
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µ

Powers rate that energy is

used
Units .

. Walt I Watts I JouleHee.

mass density
Example : Hydroelectric power of water
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Intro to Electrical Circuits

Electrical Potential energy

charge onElectric charge : Coulomb ⇐
6.25×1010 protons)-

to

VoltsJoule / Coulomb (Electrical potential)
-

electromotive force I emf )L .

Tf a 9 Volts "

pressure
"

^ 2
I yrRs resistance ( ohms r )

battery
-

y = RI
-

→

q
-

electrons I = current ( amperes )
Power = T . I

( coulombssee )

volts . amperes

Joules

Gnp
"Y÷nbs= watts



Volts

Joule

/ Coulomb (Electrical potential)
-

electromotive force I emf )L .

Tf I 9 Volts "

pressure
"

^ 2
I yrRs resistance ( ohms R )

battery

qy = RI
-

→

q
-

electrons Is current ( amperes )
( coulombsHee)

Powers -0 . Is T (g) s

Example : Electric stove : RI 251%220 Volts
.
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Powers V. I' - (2201/222,1)=2000
-

Watts



Capacitors

Capacitors battery

Symbol :

units :

z
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I = 94C Cs capacitance Farads =

L .

coulombs
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- charge Is -19 c current ) volt
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Experiment
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Componentsof atypical circuit

-

Resistors Capicators Inductors



Units

of change - Coulomb k)

( 6.24×10
"

protons)
I current - ampere

IA
)

( Coulomb #
-

V Emt - volts (

Th
R resistance - Ohms#
Ceapacitance- Farads

(F)
Joule = Newts . Meter

= Volts . Coulomb

Voet  = Joules
Coulomb

Watt = Tonya
.

= Volt - Ampas Note :

IF
 = lost Adi - F

MF
 = 10-6 F micro . f

n F  = 10-9 F no no - F

p
F  = I OMF
picot
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Special Cases:
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